
Product.: Lang

Annika

30

5135-085A

2001-017

5025-199

M5x8 Sf csavar

M5x6 Bkny hernyócsavar
2001-015

I.

3

4

5

II.
5

4

2

6536-002A

5131-001B

5135-085A

5131-001B

6536-001A

M5x6 Hernyócsavar
2001-015

M5x6 Hernyócsavar
2001-015

6

7

3490-002A

1982-019

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

2001-180
M6x10 Hf bkny csavar

18400-163

94911-084

II.

346152-1132

I. 6152-139736

IV.
4. Seite8600-035

37

38

6536-017

7911-632B

M6x35 Hlf csavar
2001-053

M6 Acél alátét
2003-005

III.

III.

6152-113335

III.

8



Product.: Lang

16 1982-001

Annika

115011-169

15 1982-011

2003-007

2001-111

M6 Rugós alátét

M6x20 Bkny csavar

17 5540-158A

15

1982-011

2003-032

2002-006

16 1982-001

6611-165

2002-003

2003-003
M5 Alátét

M5 Hl anya

18

16

1982-001

105600-076B

18 6611-165

M6 Zártanya
2002-006

1982-01116
2003-007

M6 Fakötéses alátét

145011-178

135011-173

125035-171A

M6 Rugós alátétM6 Zártanya



Product.: Lang

193712-118

23

25

24

206081-359

5490-048

Feuerraumauskleidung
(9900-511)

3712-118            1 Stück
6081-359            1 Stück
6081-417            1 Stück
6081-418            1 Stück
6081-419            1 Stück

1. 8.

Reihenfolge:

1.

4.

5.

7.

6.

5490-047

6081-419

Lage des Feuerablenkvermiculit

6081-41822

3.

2. 21 6081-417

26 9900-438

8.

Annika



Product.: Lang

Annika

31

IV.

32

5021-212

336152-095A

1982-019

M8 Hl anya

M8x16 Hlf csavar
2001-062

2002-007

28

3490-002A6

M8x25 Hlf csavar
2001-065

1982-0197

274111-001

M8 Hl anya
2002-007

294111-041

5836-030B

M5x6 Hernyócsavar
2001-015

39 9990-393A


